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— 9913 P17 TR KNTAT IRNI20% N
It is forbidden to tighten this barrel stopper, etc.

OVERVIEW

It was said in the name of 27 that it is forbidden to tighten a stopper in a beer barrel
hole on v"y (even according to w"9, since it is a 7w p°09).2 The X713 does not
state however which 7798771 is being performed by this 7w P°05. Mo cites and
discusses differing opinions in this matter.

= YOINDININI DININ 9702 199 NIV TNA TI9¥A) INIIN 12929 199 DIVIPA YD
>'"w9 explained and similarly the 1''9 and in the 797 in one interpretation and
similarly in 2°891R 29810 970; they all explained -

= 5HVND DIVN 9ONT
That it is forbidden to tighten the stopper because of ‘wringing out’.

n1voIN asks:
- DYPYN INVA NXIPY NI 91255 DIUN NVIND NNT DN 1992499 NYM

And the n'"9 has a difficulty with this explanation, for 7wn®e is forbidden on
account of 112°% (whitening, or cleaning/laundering), but 1129 is not applicable

by other liquids except for water. mpoin explains why there is no 7010 by @pwn W -
- 7051 NPYT NUN INVINDA PNY W NY 1Y) 99W) 12 P2 1WA NN 79990 427 9o

For anything which stains the material which absorbs it, for instance wine,
beer, and oil, there can be no 12 when wringing it out, only by wringing out
water can it be considered 112°% —

mooIn proves his point that the 7w N0 MoK because of N2°7 is only by water but not by o> pwn IRw:
= 8090 53) 195 VIND NNV 1N 12291 XD 929D NINY

!'In our N3 the text reads X100,
2 pwn pooo literally means, ‘chop off its head [and it will not die!!)’. See TIE a7% 7"7 2,7 '01n footnote # 1.
3 Later moon will cite a different explanation of the 717 (see footnote # 49).
4 See m "0 'o MIX 2190 N2YR DTAT OW 190 that 2XMMRI 2°RIN 170 was composed by the 2R3,
5 By tightening the stopper in the barrel, some of the wine absorbed in the cloth stopper will be squeezed out. See
later in this 10N what prohibition there is in 7v°10.
6 112°% is one of the thirty-nine MaX%n Max. It consists of washing and whitening shorn wool.
7 When garments are soaked in water and the water is wrung out, the garment becomes clean. However when it is
soaked in wine, etc. and then wrung out, the garment remains stained.
8 Regarding water the onon forbade certain activities out of concern that it may lead to 7v°no (since there is an MR
RN™MIRTA "v o by water), however these restrictions do not apply by activities with 7pwn Xw (proving that there is
no RN»IXTA AUMO MNOX regarding Ppwn “RY).
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And the proof of this is since the 2°1o1 did not decree by o°pwn “RW that certain
activities be forbidden for perhaps he may wring it out, as they were M)
regarding water.

moon first brings examples where the 2’151 were concerned for 71010 by water:
- 5919 £330 HNBNA P NAYA THNM N1 (3,17 97 nav) DIIYP 1IN 1999INTD

As X2 states in 299wp 9K P10 regarding one who was walking on naw and came
upon a stream of water, etc. where X171 said -

= 90N MY NN NN MNIY aysh »59N
What should he do; can he go into the water, but it will cause uno —

mooin offers another example of 7Y 10 N7°1) by water:
= 9792 N’ NDY NHYVIIINI NOANUVNI (ow 3,107 97 ow) AN PI9I 123 NI

And we also learnt in a Xn*13, ‘and one may dry himself on n2w with a towel

but he should not bring the towel with him in his hand’ after he dried himself -
= NVIND Y1 NNT 10891992 YI91)

And the X923 there explains the reason for 17°2 7X°2 & is because it may come to
a0 —

moon offers one final example of 7Y 10 DWW 77°1A by water:
= 0951 NN 192201 PPN NIYY RDIDTT MIIN (0w &0 97 NNYAYT 72 PI9I)Y

And in the second P22 of 7¥°2 ndon the Xn»72 states that everyone agrees that

we do not immerse clothes in a mp» on v"y -
= NOVMND DIVN NI N99)2 V9919

And 701 27 explained the reason for this prohibition in the X923 there, for there is
a 77713 because of Twone.

mooIn has cited three examples where there is a 7v°no 2w 77°73 by water (only). N800 will now
show that by a°pwn 7Xw there is no such 777
= 1997902 1910 N 129301 1IN (3,057 91 naw) 1PN P92 1IIN)

However in 7210 P92 we learnt in a 773w»; we may strain the wine with cloths -
- HVIND DIV 19T XY 1 223D NN

It is evident from this 71w» that regarding wine there is no decree on account of

% 1t is evident that wetting something in water is forbidden when there is a concern of 70 (as there is when one
wets his clothes that he is wearing).
10 Seemingly the X7n3 is explaining the mawn on X,p where it states 17°2 OX>2> X2 MXLNPR WY1 190K 3wnod. In any
event this is another example of 7v°no OWn» 7771 by water.

2

TosfosInEnglish.com



X7 "7 '010 X,) M2nd .7"02

awINY; otherwise how can we permit to strain the wine with a cloth when he may wring the
wine out of the cloth —

mooIn offers another example that we are not 7v° 1o Q1WH N3 by other Ppwn:
= OIND YD NN MNP XD 110Y RYTID DI99D 9INRP 33 (x5 97 nya) N¥ANN WYY

And in the beginning of X277 P79 also, the X7 states, ‘let him place a cloth on

it’, and the X713 does not ask that it may cause w0 and therefore it is not permitted;

indicating there is no 7Y 1O QW 77712 by DPWH Y -
= £ %32) NYN 125D 199Y NDT DIVN 19N

And that is because the 70x772 of 172°% is applicable only regarding water, but not
by other 7pwn. Therefore by water where 112°% is applicable we are 7w no 2wn» IMi (since by
water 7v°m0 is a 77200 of N2°%), however by Ppwn TXW where there is no 112°% (since it stains the
object) therefore there can be no v no oW 77°13, since there is no MR of 7V NO (or N2°7) by
TRWA R,

mooIn anticipates a difficulty with this assumption that there is no v’ by Ppwn WW:
- 129499wa NY NN2N NNIAN JIY NN NNN ON (3,037 97 naw) 12391 P92 1I99NINRT N

And that which the X3 states in 2% P9p, ‘if she (a birthing mother) needs oil,

her friend brings it to her in her hair’ -
= 1AVa NVIND VT YNRYUN H¥99Wa NVIND PN YNNI 1NVIND 1Y NN NN 72999

And the X713 asks, ‘but we are causing vIn9; and 70 27 727 answer, there is
no ;77v e by hair’; indicating that there is 77w 10 by oil, not as n9on just taught —

mooIn has an additional question:
- Y2 PN PN INY ONY 1592 PRIDN APAN %219 U BN N0 (37 91 0w) TV P92 199

And also in 11 pp the n1wn states, ‘a sponge; if it has a handle, one may wipe

with it, but if it does not have a handle we do not wipe with it’ -
=13 YH23N ¥90Y NVIND 719D SNNT DIVN

Because it causes 77une of the oil which is absorbed in the 2190. We find two places
(by the hair and the sponge) where there is an 7910 MO°R by PpPwn INRWY!

mooin replies:

! The mwn there (on 2,03) rules that when carrying on v"v it should be carried differently than it is carried during
the weekdays. The Rn3 states that when carrying (open) jugs (of wine) they should place a cloth on top of it.
12 The friend soaks her hair in oil and goes to the mother who then removes it from her hair.
13 When the birthing mother will wring the oil out of her friend’s hair it is considered ;°mo.
14 The hair (is hard and) does not absorb the oil as cloth does, but if the oil was soaked in cloth there would be mwono.
15 He is not wringing out the oil with his fingers (he is holding the handle not the sponge).
16 See the w"wn.
3
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= £ DN NVIND I3 1EATON) 179991 DIYN XMHNT 0N 13929 99N NVIND NINN
The n"9 answers; that 77uwne (by the hair and the sponge) is forbidden on account
of P57 (not N2°7) and it is forbidden, just as squeezing out the juice from olives
and grapes, which is forbidden because it is a 77210 of pon.

maon responds to an anticipated question:'’
= 209935RD 1990 VNDVINY 199 P99 DIYN MNONT 99915 XYY 0N 13929 9N XOM

However here (by the stopper), says the n''9, we cannot say that it is forbidden

to tighten the stopper because of P9p%, since the wrung out wine is lost, and not
retained by the 7Y°10 process.

mooin clarifies that this permissiveness (to 7v°ro) applies -
= 299 115D XN RXIT NYWYI P09 U7 TIIYA WD 191 2209W94 22509 11T 2) DY 29N

Even though that it is a 75w »0p, it is permitted, and so too explains the 717w
that every m>wsn p>op where he is not content with the 115%%7 that is being done is
permitted.

mooIn cites the sources from where the 717v derives the rule that 7°% Xr1 X597 9"0d is permitted:
= (0w 3,88 97 N TNN DI P91 NN 1O

And the s"77Y main proof is from 297077 > P95, where the X2 states that -
- 505NN 223 HY 1 PAY PYNY 2297 NDYN

17 5951 (which means to dismantle) is really a 77210 of w7 (threshing) where one removes the kernels from the chaff.

Similarly when one is vmo he removes the wine/oil (which he wants) from the grapes/olives. Both by the hair and

the sponge he is removing the oil, which he wants, from the hair or the sponge.

18 Nevertheless in the cases which Mmoo mentioned previously (771 DR %1307 and %Y X770 D1197) we are not 713

Pon own, because we do not find anywhere that the o°»am were 913 anything P97 1w, only (7v°no) because of

112°%, which (according to the n"9) is not applicable by Ppwn IRW. See 3 MK 7"210.

19 Let us say here too (by the ®1210n) that there is a prohibition of u°no for it is a 77710 of P9,

20 5991 and mwono are applicable when the squeezed out liquid is being retained and used; however here the wine

squeezed out from the stopper is lost. The MR of 112°% (and the WV ND associate with it) is using the liquid and

wringing it out to wash the item (which applies only by water). The Mo°X of P79% (and the fv 1o associated with it)

is drawing out the liquid and retaining it.

2! The marginal note inserts here; *d0 ™MW 993 2 X1 R?T X2°7 ,w"H MOR A"92RWAT A"¥X), and even though w"

prohibits a 1">u¥xwn, nevertheless wherever he is totally unhappy about it, it is more readily permissible. See

‘Appendix’.

22 pwn pooo literally means, ‘chop off its head [and will it not die?!)’. See TIE a77 "7 2,7 '01n footnote # 1.

23 Seemingly maon previous explanation that there is no pon DWwn LMD by the stopper because it is TIX? 7217, is

based on the assumption that since it is T12°X> 792177 there is no intent here to retain the wine, he is 11907 2R (which is

A according to w'"). However the ruling is that if it is a 7w °05 then there is no 701 of 1501 1K, and here it is

a 7w pooo for if he tightens the stopper wine will certainly be squeezed out.

24 Here too by the stopper he is not pleased that by tightening the stopper he is losing some of the wine.

25 The X7 discusses there what one does if he donates wine to the nam. According to " he sprays the wine over
4
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According to w''9 (who maintains M2n» "X 1s 71M1) we spray the wine over the

fires of the nam -
- 59Y 253 IRNA Y NN XYY 113 NI 1299 INTIT KD 1PY 9P097 2) Yy 9N

Even though it is a ;71> 02 since he is certainly extinguishing (partially) the
fire of the nam, nevertheless, since he is not pleased with this extinguishing, it is
permitted. This proves that % Xm°1 X7 7"09 is .

mooin offers another proof of the W that 7°% X1 X7 7"09 is na:
= PYNY 2292 TTYIHN 229 MINDT (0w 3,05 97 130y TIIN 29190 NINY 2NN NI

And the 717V also brings a proof from 911377 291 19, where @' 28" rules -
= N JP5HI N 7299 26941 %25y VIY9 21V DY DAY DXVYIN

We may reduce on ©' the amount of (grapes) [berries]; meaning the berries

of a ©777. And the X713 asks, ‘but he is repairing an object’-
- AN NY 920 NYIANRY MaNNa NY DIP

So "wX 17 establishes this ruling of w"2X" in a case where his intention is to eat

the berries (but not to be 7°w2n the 0777), and w"2x" agrees with his father ¥ that
a 112nM PR 127 is permitted -
- 5915 7YY PID9A PYNAY %39 NI XY T>I9)

And the X713 asks but @''9 agrees by a 2''9p, etc. that it is forbidden -
= 259NN NIYYIN 1199 5INT N8 XD 2unN)

And the X3 answers that it is in a case where he has another X1yw (077).

Mmoo concludes with the s"717 proof:
= NI W P09 22 DY GX MY PPN NN WM DY 19D NN NDT 1195 NNDN
It is evident from there that since he is not pleased and concerned with this

repair (for he has no use for it at all), it is permitted even though it is a 9''op.

In summation; the view of (the 7w and) the n" is that the 112°% Dwn nvno MO°XR is only by
water; the P9n DWwn VR0 MO°X applies to PPWnH IRW (also), provided the liquid is not T2°X? 72117.
Therefore the Mo°X of tightening the X**72101n cannot be on account of 7w o (either N2 Dwn
because it is not water, nor P51 DWn since it is T12°X? 7217). The 717¥ also maintains that by Px

the fires of the nam, even though he is extinguishing (somewhat) the fire of the nam which is prohibited since the
P09 (in 1,) [¥] X7p7) states 7250 K, nevertheless he is 11901 1°% which is 90 according to w".
26 The mawn (in 2,27 1210) teaches that if there are more berries than leaves on a 0771 it is 9109. One may remove the
berries (but not on ©"1 since he is X1 1pn») and it becomes Ww>. However, w"ax1 permits the removal of the berries
even on v"v.
7 In the case where he has a "> nR Xww17 it is not considered Xn 120, since he has no intention of using this 077
for the 713 for he has another one. Therefore this 75897 of X1 1p°n is 911 XY; he has no need for it.
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NN a 7% KM RDT "0o is M. It is therefore not clear what is the Mok of tightening the
stopper.

moon offers an alternate view, in explaining our X3
- 1357 DIYN NPYN ANV VINDT MONT 999195 RIINT 190 NYP NIT PNYY 13399 HNIN

And it is the view of the >'' that there is no difficulty on "w79, for we may
assume that it is forbidden to wring out other y°pw» (from a cloth) on account

of 112 (for 112°% own weno applies to all Ppwn) -
= BNV NNV 1N 12UN XY DIPN Y 093 M5

Just as N2° own nwno is forbidden by water, but nonetheless there is no

concern by 1pwn XY that perhaps he will squeeze it out as we are concerned by

water -
= INVNDI NINI NN VYN DYTH22 OXINYI NI DYOLAY 11D

Because even if he squeezes out the liquid by the Ppwn “Xw, the taste and the
odor of the pwn will remain in the garment, and he will gain little by wringing

it out. Therefore there is no V170> XnWw 7713, however if he will be v, it will be N2°% W MOX
even by Ppwn Xw. This is one option.

A second option according to the >"~:
= P99 DIYVN 9ONT ) 99912 1398109

And we can also say that 7°pwn TRw2 7vIN0 is 1312777 7°0n0% MMeX because of paon -
= PYNRY 2299 NYINNIY NHON NP9 XN KDY NYWIT P09 1T 20 YY N

And even though it is a 7°% Xm1 897 2'"op, nevertheless it is still 7% 2N

112777 (even) according to W' -
— 2919929 15298 NIONVY NONDNI 1D
Just like a ®"2Nw» is forbidden 112771 according to w"9, the same will apply to a X297 1"0d
% X1 by 11onn PR that it is 777035 0K,
= PRI PN TIIVD DR
And the proofs of the 719y are not convincing proofs that 7 xm°1 X727 1"09 is N

The *"1 will now attempt to refute the proofs of the T17v:
= INVY MISNT 9999D NIIN DIWIND 23X DY 19 991D PYNY 239 9NNt XINNT

28 The n" brought examples that by water there is the concern of V70> Xaw but not by Ppwn Rw.
2 1t is possible that the *"7 maintains that a 7° ®m°1 X77 1"08 is considered a 3"7%¥xw». Just as by X7X ¥"X1 M2 977
9y (a A"™9¥RWn), he is intentionally doing the 75871 (digging) but he does not need the pit (3"7%R), similarly here
since it is a 1"0d (where there is no Mo of 1>n» 1°X; for it is considered 112nn), it is considered (as if he is) 1>nn
for the 7o%7n of nvno. However since it is T12°R? 7237 (so 72 X1 XY) it is considered 2"73X (because he is not
retaining the liquid). See X"y".
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For in that case were w''1 permits to spray the wine on the fire, we can say>’

by a mxn it is different’! and we permit 12n» X even if it is a 1"0D; since it is 2"m1 89, the
1127 were not 7IX7 DPra A -
= I8 DIVN 9VT 99515 NN YNINN NIYULIN N9 INT NN \F))

And similarly that case where he has another Xiyw77, we can also say that it is
permitted because of the /2% (of 2°1n '7 n>01) — 32

The *"1 offers an alternate refutation regarding the RXiywi:
= IPANNR NIYWIN 19D 5HINRT XIN AW PIU NN IWITIO 251 ) ON

Or you may also say; this is the explanation of the discussion there; the Xna
asked, ‘how can you remove the berries for it is a 9"'92’? And the X7 answers

‘that he has another Xiyw:’. This concludes the citation from the X n3 -
=99 \[7a¢L NYY N8 AY 790 NY NHVT Ny 2499 'Y =) 5N

And since it is so (that *nnR RWwwT % n°R) it is permitted according to w''A,
since perhaps he will not need this 0777 (from which he removed the berries), so it

turns out that he did not ‘fix a utensil’ (but not [solely] because of 71201 7X) —
- 3NYN NOU PIDD INY A

And therefore it is not a 2''"95 for no 7oX%n was done at all —

mooIn responds to an anticipated difficulty:*
- 353y 5957 N INDANY DY TION NIWT NYON NN 3295 Yax

However according to "1 it is forbidden (to remove the berries) for perhaps he
will need this 0777 and it will turn out that he made a utensil after all -

30 See “Thinking it over’ # 1.
31 The person donated wine to the nam; he is obligated to bring it on the nam, and is performing a m¥» when
spraying it on the mam (even though he is [partially] extinguishing the fire).
32 When the X713 there said it is permitted (even though it is a 7"0d) since he has another 077, the X773 meant to say
that since he has another 0777 it is a 9" X7 7", and a 7"n°197 7"0d is permitted M¥n Dpna. [The Men can be that
another person who has no 077 may use the one from which he is removing the berries. ]
33 Removing berries from a 0771 is not making a >73 (unless he needs it for a 7%, which in this case he does not).
Therefore no 70X was done at all (it is not merely 1207 1°X and a "7 X?7 7"09 [see footnote # 27]).
3% We are discussing a case where he has a >n> X Xwws, and we just said that it is not a 79852 at all (see footnote #
33); why is this permitted only according to w"1 (who maintains 0% 120 PRW 127), it should be permitted even
according to >3 (who maintains 70X 11207 1°X), since no 719871 was done at all.
35 This dispute between >"1 "3 by the 077 is similar to their dispute regrading 1207 PX. By 7202 7R we are not
sure whether a 79871 will be done or not (otherwise it is a 7"09). ¥"1 maintains since we are not sure, it is 1m» (for
he is 11on» 1°X) and °"1 maintains since there is a possibility of a 70X being done, it is Mox. Similarly by the o777 it
is possible that he may not need the 077, therefore it is °n™ according to w"2. However it is possible that he will
need the 0777 therefore it is >"2% 70K.
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In summation; the *"1 maintains there is an 7v’n0 MOX here by the stopper, either N2°% Dwn
(which does apply to 7Pwn IRW) or PIon DWW (since it is a 1"0d, even though it is 2"'m1 RY).

Mmoo challenges the ruling of the Ty that a "m°1 X597 2"09 is permitted w'"1%:
— (417 97 maw) DINIY NMNY P93 PNT DYP TIPN WIN Y

And there is a difficulty with the 797 wp (that a "1 857 1"00 is permitted

w"17) for we learnt in a 773w in 2939w IR PO -
= 379)09 NN N3N NINND ONY 42991 N NY MYYY DN NAYA XD DN

One who bursts an abscess on naw, if he intends to make an opening (in the

skin) he is 3%’17, but if he merely intends to remove the pus he is 1D -
= 910N N1 NIYY DIVN IND ON DAN 951 9109 NIYS DIVN NP

And he is w5 and also permitted initially to burst this abscess (in order XX
nm% nann) only because of the pain it causes him (if he will not open it up),

however if not for the pain he would be forbidden to burst the abscess even Xx312
% maan (for it is [either a 2"9¥Rwn or] a "1 X977 7"09) which generally is M0KR 728 Mwd

according to w'") -
= 250 92 19951 XY 25 NN 11 NPD XN INT 38500 N 1D NN NYT 2) by 9N

Even though he is not pleased with the making this 712 at all, for if he would be

pleased with the 772 then he should be 297 even if he is not 12072 to make a 75 (but
only 1% ®°¥17%) since it is a 7"05. This proves that 7°% X°1 XY is not a sufficient reason to permit
something which is 710X (even 112777).

nMoIN brings an additional proof that 7°% &m°1 XY is no reason to be 72137 1°nn:
= NIYY DIVN 29V 31PN NN N2 D1VY 9 Y VNN 1N

And similarly regarding that which the 7711wn teaches that one is permitted to take
a sewing needle to remove a splinter from the body (even though he may make a

wound), because of the pain the splinter causes -
= 40555 1759 NN RYT 2) DY 4N MON 997 IND N YaN

However if not for the pain, it is forbidden even though he is completely not
pleased with making a wound. Therefore the >3 concludes that (23) 7% X1 897 1"09 is 7I0K.

36 He is 2»n for 7112 nox“n since he built an opening which serves the same purpose as a doorway.

37 If his intent is only % X°%172 (but a nino is formed nonetheless) he is considered nnNd MWy 1207 PR. See N2w '0IN

X7 7"7 R,3p who writes 819y 72°p1% ROR 1097 17127 995 17107 PRI, Nonetheless a mno will be made, so it is considered

a 1"on. However he is not 2"m°1 with this nno (see shortly in this ndOIN), so it is a 7"n°1 827 1"09. See “Thinking it

over’ # 2.

38 moon perhaps writes 223 792 "1 X7 to indicate that XoMn 097 is similar to 813101 which is also 93 7% X1 X7

since he is losing the wine (see footnote # 21).

39x,1p naw and 2,20p.

40 According to the 71w it should be 7n even without XWX oW, since it is a 9"m*1 K77 7"00. See ‘Thinking it over’# 2.
8
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NN asks on the °":
= (x,n0p 0w) $°2N P93 29 9INP ININ ION 79 XN NDT 1YW PID IN NYP NP YAN

However, there is a slight difficulty, for if we assume that 9% 891 8?7 2"'0D is

1©oKR, why does 21 rule in n°21 299 regarding -
= PRYNN DY TA98 PRI DININ AN 9109 193D JVNDY DIVAD

Preserved (pickled) vegetables which he squeezed out the liquid from them, if he
intends to eat the 2°w2> he is (not only) =mwp (but is also) permitted to do so

nonnoY, since he has no need for the squeezed out water -
- 92959N NPNY LN PPN PRT 2) Y N XYM

But now that the > says that "1 %7 1"09 is 70X, so even though he has no
need for the water it should still be 910K —

NID0IN answers:
= NIDINT NIIIN 1129 DNN VNDIN MNNT IV DIWAD NPITT 912915 1398107 PNHYY 13529 9IIN)

And the >'"9 said that we can answer; that only by 222> is it permitted,
because the liquid which is squeezed out is considered like food which was

separated from another food but not like /iguid which was squeezed out from food-
- B9)0N YAN 9109 012D I1T2ANT 1299INRTI 1YDY NPYN Y PN

And that liquid cannot be considered as liquid at all, as 27 states that even if he

squeezed them out because he wanted the liquid he is still (only) 2108 a8 215, but
not 2°11. This proves that there is no 7Y’ 10 of pPwn here at all, for otherwise if the squeezed out
liquid is considered fipwn, why is he merely MoK it should be 2.

moon will now offer another refutation to the proof of the 717v that there is no (112°% owwn) 7w MO
by other 7pwn, since we see that we are permitted to strain wine and there is no VDY RAW 7773,
proving that there is no 7"pwn TXw2 7010, Here '01n rejects that proof:

= HOIND NNY 919999 7Y KDY 192 NYIY DIRY 927 DT 99D U Ny

And in addition one can say; that anything that person does intentionally, it is

not applicable to be concerned that perhaps he will wring it out -
- DIND? NNV 1IPUMN KY 1957 NN 123909 23 Y919 “SAYIy NN 19 NYTHT 112 XD XI207

For it is logical that he will not wring it, since he is doing it (whatever he is
doing) with forethought, and therefore regarding the straining of the wine we

41 Others amend this to read N> 77X 77
42 See ‘Thinking it over’ # 2.
4 It is ox (even though Y9y mpwn ow PX), because since he considers it pwn (he is squeezing it out oY), the
20n prohibited it for it is similar to 7v°ro.
4 See ‘Thinking it over’ # 3.
45 He knows he is making it wet (and 0’10 is prohibited) and therefore he is conscious not to be vr.
9
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are not concerned that he will wring out the cloth since he is concentrating on the

straining process -
= (x,m 97 A3y 61197523 NYIIVI NNIYN NTIT IND VP9V NINN)Y

And now (that we are making this distinction, namely that by 71 there is no 77°13
of v ro) the X3 in 7771 noon will be understood, for 17 ruled that a 771 may

deceive and immerse herself with her clothes on and there is no concern of fvno
since she is immersing her clothes 7°12.

mooin offers an additional proof that by 711 there is no 7773 of VN RAW:
= £ YINIX 1Y 921 129 239 D2APNY THINN (3,59 97 N1IT /N P92 199

And similarly in the eighth »92 of X%y ndon the Xn™72 teaches ‘one who goes to

greet his Rebbe on 7195 01, he may wade through water up to his neck’ -
= VYIY NIN 19 NYTIY 295 VINDS XNY 1993) XD

And we do not decree to prohibit it for perhaps he will wring out the water, the
reason as mentioned previously is since he is doing it willfully there is no 771 -

mooIn offers an alternate explanation for the cases of 771 and 127 °10 9°2pn%:
= S5INY NINNT ONN 91291 NIIN 1Y)

(And) [However| we can say; there it is permitted, for a mx» is different and
therefore there was no 7713,

mooIN cites an alternate explanation of our &723:
= 99V JY 5%)9) NNINU RNMTIT XI1101 YPINN IWI W9 TIHYI)

And in the 77y, there is a different explanation; X117 Xn>39210% means the

plug of a vat of beer -
= 50nawa Y55 NYYN NN JSN NNINDN HVAN RNYT NPITHD ION

It is forbidden to tighten it for perhaps he will append the plug to the vat and
he will make a utensil on naw.

46 The case there is where the woman (who is a 773 and has to be Y21 but) only has clothes which are ¥av (which
will make her X0 again after she puts them on after her 79°2v), and she cannot be 221w them since it is 0"y (where it
is considered R Jpnn), nevertheless she can be 9210 herself while wearing her o°knv 2732 (and be 17v» herself and
the clothes), and we are not concerned even for 7 no. [There is no concern for X1 11p°n for since she is immersing
herself we may assume that she is not 721 for 7170 but merely to ‘cool off’.]
47 The "wmn amends this to read %" (instead of 7w1).
4 It is a mxn to for a 771 to be Y21 and to greet one’s Rov.
4 See footnote # 3.
30 The vat previously had a hole in it and was not a complete vessel. However he may decide that the plug should
remain permanently in the vat and become an integral part of the vat. By doing this he is making a utensil on naw.
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moon disagrees:
= NN NYYA OV HVAY INYTA ONRYT 99T 93577 PN 139299 AN 1PN)

And the "9 does not agree with this explanation of our &723; for how is this case,

if he initially has intent to leave the plug there permanently when he inserts it -
- IMVYY 19995197 555 NWIY NYD 1993 SHND Y NOYW PIDO SN

What kind of 2''02 is there here, since he is immediately making the utensil,

for he intends to make it part of the vat -
- S23h5 MIVYIY NPYY PID NN KY 19 OX DV NYVAY INYT PN ON)

And if he has no intention of leaving it there permanently, there is no 2"'op that
he will make it into a “»>.

mooIn attempts to justify the 717v:
= 53595 NHIVYY 115519 139X NTVAY 19NN NINY PHITA 991D W

And with difficulty one can answer that he intends to leave it (it is a good
storage place) there, but does not intend to make a vessel -

99 MYYY 39193 199901 1N DININ NI 9509 N3 TV
So therefore the term 9o is applicable, since he does not fully intend to make
a vessel.

SUMMARY

According to (*"w1 and) the " there is an 7Y 10 MO°X because of N2°% by all Ppwn.
[We are not 70 no 0wn M3 by 1Ppwn IR because it retains the odor even after the
nvno. Alternately we are not v nd 21w M3 when it 1s done 77112, ]

According to the n"9 the 7vO MOX is only by water. According to the 7171 0" a
2"'m1 X927 7"0d by 1™5nn PR is amna. According to the °"3 it is MOX. The MoK of
X*1210n according to the (n"91) T is on account of 712,

THINKING IT OVER

1. The >"1 explains that (only) if it is a 7%» 21PH2 "°1 ®H7 7"00 is it permitted.>
What then is the question on 27 (who is °°nn a M¥» N9°v2) from the case of X>7>10n
(where he prohibits it), for we can distinguish between mxn nva, which is a mxn

1 The X7m3 here states that the case of X*71210% is a w1 °05. See ‘Thinking it over’ # 4.
52 He may decide to remove the plug and so no 719871 was done at all.
33 See m MR 7"20 that he intends to leave it there but he does not intend to append it (17029) to the *%5 (for that
would be a 2>7°2 1°12).
54 See footnote # 30.
11
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and the X101, where there is no m¥n?1

2. The ruling of the 7w (by our case of Xn*°117 X*12107) is in a case of 11201 X (he
is merely tightening the stopper; he is not [consciously)] wringing it out). It is
(seemingly) only by 12nn X that the 779 rules that a "1 857 2"09 is 0w, but
not by a 2"9x¥x&wn. Therefore there is a twofold difficulty; a) what is the question on
the W from the cases of X071 0%0n and vnn,>® which are (seemingly) cases of
A"ouxwn (and not Monn PR),Y7 where (by A"9¥Rwn) it always is 9"l X9 and
nevertheless (all agree) it is OX!°® And b) npon asks a question on the >"1 (who
maintains that 5"m1 877 19"09 is M0KR) from the case of 2°wad that if 1917 VRO it is
aMn; seemingly proving that a %"m1 77 7"09 is IMm as the 717V maintains.>
However the case of junow o°wad is not a case of M2nn X, for he is actually
squeezing the ow12; it is rather a 2"7xxwn.

3. mooIn writes that when someone does something intentionally there is no 7712
of 1> Xnw.*! However in the cases which mpo1n mentioned previously where we
are VIND> XnW M3 (the case of o 7 NuX and of NLIHYR and 0°%57 NX P2°2UN PXR), in
all these case he is doing (the wetting) 7113, and nevertheless we are Rnw 972
vIN? 162

4. mpoin asks on the 717w o (that it is 7112 21Wwn TOX); why is it called 7"09.%° Why
did not '01n ask from the beginning of the X7 where it asked, ‘does 27 maintain
TN PR is M, but 27 ruled by X7 Xrm20n that it is MoX’. What is the
question according to the Ty, since it is a 11207, not 1M3nM 1K1

APPENDIX
The difference between 11201 1°R and 2"98Xwn is that by 1501 X (even if it is a

55 See X"wmn.
6 See footnote # 37 & 40.
7 See xnm1 3"7 X1 N2w 'oin.
8 See X"y n and (AR2M) ™ MR 710,
3 See footnote # 42.
0 See 15 0 (WT) 70 79ax and (AR 32 MR 7"O0.
61 See footnote # 44.
62 See yIRw '010 and > MR (V"R 7Y) "R M (see also 2"Yo W 0 AMIK YW R"A7 IN02).
63 See footnote # 51.
4 See X"wmmn.
12
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2"09) he has no intent to do the 72892;%° however by a A"7¥Xw 719871 he is doing the
act of the 70897 but not for the purpose for which this 708972 was used in the 10wn.%¢
In the case of a 7"0d by 1™M>nn X, the MWd of 171201 1°X is no longer there; we
consider it to be a 15nn since it is a 1"0d. The question arises what happens when
it is a 7% X1 X927 1"09, does it still remain a 11201 or since it is 7% X1 RY it i
considered 1M20n PX.

If we maintain that even though it is "m1 X9, nevertheless it is still considered
11507, then a "1 897 1"09 would be similar to a 3"?3¥xwn which is MOR a8 70D
(this seems to be the view of the *"1 in mpoin).5’

However if we maintain that a 5"r°1 X% removes the 7"05 and he remains 11207 X,
there can be no MoK based on 3"7¥RWwn, since he is 171207 K.

The marginal note®® in MooIN may be adding that even if (generally) the 5"m1 X7
does not remove the ™Md>n» PR and it remains a A"9¥XwWn (which is MOK),
nevertheless if it is 292 9"m°1 X, as in the case of* XM201n or X0 0B (as
opposed to a ‘regular’ 2"n°1 X7 [as in the case of the 0777]), then it reverts back to
11907 19K and it is .

% In the case of dragging the chair, he has no intent at all to make a furrow in the ground; he merely wants to move
the chair.
% In the case of digging a pit (which is the 79871 of 7112) because he wants some earth. He is consciously doing the
7R of 1 (like someone else who wants to build a pit), however his need is not for the pit but rather for the dirt.
87 See footnote # 29.
88 See footnote # 21.
8 See footnote # 38.
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